Chapter 15, Scenario

1.
The ABC Company and the XYZ Company are merging. Both companies are already running Windows NT 4.0 domain networks. ABC has 1000 users, six domain controllers, and four member servers that function as applications servers. The XYZ Company has one domain controller and 30 users. Client Access Licensing for the ABC Company is on a per-seat basis. Client Access Licensing for the XYZ Company is on a per-server basis. Twenty of the ABC Company employees and all 30 of the existing employees need access to the XYZ server. Assuming appropriate user accounts are set up on the XYZ domain, which of the following is/are the easiest and least expensive way(s) to accomplish this goal?

a.
Purchasing 20 additional Client Access Licenses for the Per Server license that the XYZ Company currently has.

b.
Doing nothing beyond configuring the new users.

c.
Converting the Per Server licensing for the XYZ controller to Per Seat licenses.

d.
Purchasing additional Client Access Licenses for ABC.

c. The merger, at least for now, is not creating any new client stations. But Per Server licensing of clients on the XYZ server must be changed to Per Seat licensing so that more than 30 stations can access the XYZ domain controller simultaneously.

Chapter 15, Lesson 1

1.
The ABC Company has just installed and configured a second Windows NT 4.0 server to be used as a dedicated print server. The company now wishes to change its client-licensing mode from Per Server to Per Seat licensing. Which of the following Windows NT 4.0 tool(s) can carry out this change?

a.
The Server Manager tool on the Administrative Tools (Common) menu.

b.
The Licensing program in Control Panel.

c.
The License Manager program on the Administrative Tools (Common) menu.

d.
The change can be accomplished by editing the CAL_Type parameter in the registry key HKEY_LOCAL_MACHINE\System\CurrentControlSet\LicensingInfo with the Regedt32.exe program.

c. (pages 538, 542)

2.
The ZZZ Company wishes to use license replication so that the company servers’ licensing information is routed to a centralized database on a designated master server at specified intervals. Which of the following can be used as a master server? Choose all answers that are correct.

a.
Backup domain controller.

b.
Enterprise server.

c.
Member server.

d.
Primary domain controller.

b and d. (page 539)

3.
To be in compliance with Microsoft licensing requirements, the ZZZ Company must obtain Client Access Licenses for each of the organization’s client computers that will ever connect to its single Windows NT 4.0-based server. (True or False?)

False. (page 533) If the ZZZ Company chooses the Per Server licensing mode, the Client Access Licenses are assigned to the server and not to the client computers; the company needs only as many Client Access Licenses, as there will be simultaneous connections to the server.

4.
Windows NT per server licensing is based on the number of users connected to computers running Windows NT Server. (True or False?)

False. (page 532) Licensing is based on the number of client connections to computers running Windows NT Server. A given user may have more than one connection.

5.
The two administrative tools included with Windows NT Server 4.0 to help reduce the cost and administrative overhead of license tracking are the License Manager program on the _____________________ menu and the Licensing program in Control Panel.

Administrative Tools. (page 538)

6.
You add all of the simultaneous connections needed at all of your company’s servers and determine that this number is greater than the total number of computers in your company that access any server. The most economical Windows NT 4.0 licensing mode for your company is the Per ___________________ licensing model.

Seat. (page 535)

Chapter 15, Lesson 2

1.
Which of the following protocols is supported by Microsoft Network Client 3.0 to provide connectivity for MS-DOS-based computers? Choose all answers that are correct.

a.
NetBEUI.

b.
Internetwork Packet Exchange (IPX) Compatible Transport.

c.
TCP/IP with support for DHCP and WINS name resolution but not DNS name resolution.

d.
Data link control (DLC).

a, b, and d. (page 548)

2.
Which client software is provided by Windows NT Server 4.0 on the Windows NT Server 4.0 compact disc? Choose all answers that are correct.

a.
Microsoft Network Client 3.0 for MS-DOS and Windows.

b.
Microsoft Windows 95 operating system.

c.
Microsoft Windows 95 Client 2.2 for OS/2.

d.
Microsoft LAN Manager 2.2c Client.

e.
Microsoft Windows for Workgroups operating system.

a, b, and d. (page 547)

3.
To access a Windows NT Server from a user’s computer, the computer must have client software installed on it. The client software is automatically installed on computers running Windows NT Server 4.0, Windows NT Workstation 4.0, Microsoft Windows 95, and Microsoft Windows for Workgroups during the installation of the operating system. (True or False?)

False. (page 547)Windows for Workgroups should not be included in the list.

4.
Windows 95 supports the following protocols: NetBEUI, Internetwork Packet Exchange/Sequenced Packet Exchange (IPX/SPX) Compatible Transport, and TCP/IP with full DHCP, WINS, and DNS support. (True or False?)

True. (page 549)

5.
______________ is the only client software provided with Windows NT Server 4.0 that supports WINS and DNS name resolution.

Microsoft Windows 95. (pages 548-49)

6.
The ABC Company has several Windows for Workgroups 3.11 client computers in its Windows NT 4.0 network. The company would like to dynamically assign IP addresses and have the ability to use WINS for Windows name resolution on its TCP/IP network. This capability is possible if the company obtains the Windows NT Server 4.0 add-on product, Microsoft ____________ for Windows for Workgroups 3.11.

TCP/IP-32. (page 547)

Chapter 15, Lesson 3

1.
Which of the following options is available on the Network Client Administrator dialog box? Choose all answers that are correct.

a.
Making a network installation startup disk.

b.
Making an installation disk set.

c.
Copying server-based network administration tools.

d.
Viewing Remoteboot client information.

e.
Formatting a disk.

a, b, and d. (page 552)

2.
Instead of downloading client software from a network server or installing it from the Windows NT Server 4.0 compact disc, you can create an installation disk set to manually install the software on a computer. Which of the following network clients or services is available in the Make Installation Disk Set dialog box? Choose all answers that are correct.

a.
Microsoft Network Client 3.0 for MS-DOS and Windows.

b.
Microsoft Windows 95.

c.
Remote Access version 1.1a for MS-DOS.

d.
TCP/IP-32 for Windows for Workgroups 3.11.

e.
LAN Manager 2.2c for MS-DOS.

a, c, d, and e. (page 556)

3.
Remoteboot is a Windows NT 4.0 service that can be used to start Windows 3.x- and Windows 95-based computers over the Network, but MS-DOS-based computers must be booted locally. (True or False?)

False. (page 552) MS-DOS-based computers can also be booted remotely.

4.
The recommended method for installing the client software is to share the Windows NT Server 4.0 compact disc with the client computers and install over the network from this shared device. (True or False?)

False. (page 551) Copy the folders and files contained on the Windows NT Server 4.0 compact disc to a network server and share them. Creating a network share is the recommended method for installing the client software.

5.
The _________________ tool is included with Windows NT Server 4.0 to install and configure the network client software and tools contained on the Windows NT Server 4.0 compact disc.

Network Client Administrator. (page 551)

6.
The Network Client Administrator is located on the _________________ menu on computers running Windows NT Server 4.0.

Administrative Tools (Common). (page 552)

Chapter 15, Lesson 4

1.
Which of the following is a minimum requirement for installing the Windows NT Server 4.0 administration tools for a computer running Windows NT Workstation 4.0? Choose all answers that are correct.

a.
A 486DX/33 CPU or higher.

b.
16 MB of RAM.

c.
2.5 MB of free disk space on the boot partition.

d.
Workstation services installed.

e.
Server services installed.

a, d, and e. (page 558) The minimum requirement is 12 MB of RAM, and the partition should be the system partition, not the boot partition.

2.
Which of the following is a minimum requirement for installing the Windows NT Server 4.0 administration tools for a computer running Windows 95? Choose all answers that are correct.

a.
A 386DX/33 CPU or higher.

b.
8 MB of RAM.

c.
3 MB of free disk space on the system partition.

d.
A CD-ROM drive.

e.
TCP/IP protocol installed and configured.

b and c. (page 560)

3.
To install client-based administration tools on a computer running Windows NT Workstation 4.0 using the compact disc, you must run Setup from the \Clients\Srvtools\Winnt folder on the Windows NT Server 4.0 compact disc. (True or False?)

True. (page 559)

4.
The Windows NT Server 4.0 client-based network administration tools are installed in the Srvtools folder on the boot drive of a computer running Windows 95. (True or False?)

True. (page 560)

5.
What is the name of the server manager program that is installed when you install Windows NT Server client-based administration tools on a computer running Windows NT Workstation 4.0?

Srvmgr.exe. (page 559)

6.
The Windows NT Server 4.0 client-based administration tools are installed on a computer running Windows NT Workstation 4.0 from the Windows NT Server 4.0 compact disc on the workstation or over the network. The administrative tools and their supporting files are copied to the ________________________________ folder on the workstation.

systemroot\System32. (page 559)

Chapter 15, Lesson 5

1.
Which of the following services can be used when integrating a Macintosh computer into a Windows- or MS-DOS-based network? Choose all answers that are correct.

a.
LocalTalk.

b.
Ethernet.

c.
Token Ring.

d.
Fiber distributed data interface (FDDI).

e.
ArcNet.

a, b, c, and d. (page 563)

2.
When you install Services for Macintosh, which of the following features is automatically installed? Choose all answers that are correct.

a.
AppleTalk protocol.

b.
File Service for Macintosh.

c.
Print Server for Macintosh.

d.
TCP/IP protocol for Internet/intranet connectivity.

e.
A hard-disk device driver on systems over 2 GB so that Macintosh clients can access the drive.

a, b, and c. (page 565)

3.
_____ supports a Macintosh-accessible volume on a(n) ___________ partition.

a.
Windows NT Server; FAT.

b.
Windows NT Workstation; NTFS.

c.
NetWare; NTFS.

d.
Windows NT Server; NTFS.

d. (page 562)

4.
The ABC Company has merged with a company using Apple Macintosh computers, and wants to use the Macintoshes as clients in its existing Windows NT 4.0 network. ABC wants to be able to share files created with both Microsoft Office for Windows and Microsoft Office for the Macintosh. It also wants all clients to be able to access the existing printers for personal computers and the Macintosh-based printers of the other company. ABC wants to be able to manage this mixed network from a single computer running Windows NT Server. Macintoshes are located in a different office and are connected to an Apple network, so they need AppleTalk routing support to create a combined Windows NT-AppleTalk internetwork. Installing the Services for Macintosh on Windows NT Server will meet these needs for ABC. (True or False?)

True. (page 562)

5.
To use Services for Macintosh, a client computer must have the Macintosh operating system version 6.0.7 or later, and AppleTalk (the Apple networking software for the Macintosh). (True or False?)

False. (page 563) The Apple networking software for the Macintosh is AppleShare.

6.
Installing Services for Macintosh requires a computer running Windows NT Server 4.0 with at least _________ MB of disk space available.

2. (page 562)

7.
After Services for Macintosh is installed, a ____________ menu is added to Server Manager.

MacFile. (page 564)

